ki

EE(m) %"F*gﬁ%) Hh Bt
BARROEH ERES .
AEAEAE | HR 62,525 - 0 0.02
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g (m) BEARZERH(F) e E
HFE| RER | TEHA p BERBEZOESE ERES

1 [PHEE  |HiBWh EEMNEHR|SERORE 1 -1127 53,358 28,854 6 3 106 41
2 | BEE [Hilh B LR | S ER b O BAIR| T -4029 11,858 5213 3 2 58 44
3| EEE |HBTH RNNLAR |2 E o BB T -4030 11,576 5,306 1 1 28 44
4 |[FEE (HBH  (EUMEFRISER MO 1 -4031 88,122 74,747 2 1 248 42 |
5 |AE |HEH AL ER | SER 0 Bk T -4583 8,601 3,386 5 2 50 41
6 |mEE [Hlh REMHEHER | S B Hh @ fRik| 0 -4585 4,940 2,851 1 1 93 40
7ImEE |Hfm  |EeRLHE | SIER O g% T -4587 31,228 16,642 3 3 88 27
NEEY MGG EMHAHR |2 @M IR T-4592 23,059 15,591 2 2 98 39
9 LS [k BEMNHEFER|2ER O IE 1-4504 15,008 5196 4 2 26 47
10 |48 |HBd (EeHEAR|SEShO R T1-4595 4,339 1,473 1 1 34 41
11 2% |HOhm  |[AEAEHR | SER MO 8 E| IT-4597 1,088 799 0 0 41 38
12 |fEE AW REMAIL R | S B R @ BAIE| T -4598 6,274 3479 1 1 83 47
13 |fAEE HIOM sEARIAHE | 2 Ma5 0 iR T -4600 1,858 848 2 i 21 48
14 [FA£E |HIBH  [FWSEAE |2 EM O Bk T -4601 7.625 3,310 3 3 68 43
15 [FAEE [Mlh |EeHEFER SMEM O R T-14602 3,748 1,091 3 1 30 41
16 |[FafE |HPH |[EUHHEHE [ SIEFhO S T -1604 9,703 6,372 2 2 65 46
17 |FHEE  |Hilh BEMMIA IR | S AR D HE 18| T -4607 3,337 1,406 1 0 62 43
18 |[FAZAE |HAH |EWHEFRE | SIERM OIS T-4608 14,590 7,086 3] 3 61 45
19 [FEE @it A AR | SMER O RRIE| T-4610 12,194 4,516 3 2 74 52
20 |FlEE  |HlWh REMMEFR | SHEA O RER T-4612 15,631 6,373 5 4 75 44
21 |FAE (MW [AEAMEHE | SR MO iR 1-4619 7,989 2,736 3 2 40 | 46
22 {fmEE WO EAHEHR | S2EM RO FRiE T-4621 14,070 6,145 4 2 68 47
2 |fEE |HEH BEURLHRER | SR D Bl I -4725 5,935 3070 2 0 54 36
24 |HEE AT (EWHEHER[SIEMEORIE T-61106 4,286 1,664 3 0] 17 43
25 |fEEE  |HidH BEAMAFRE | ZMEM MO EEIR| 1-61107 1,879 907 1 0 21 45
26 |FEEE |[EOm BEMHLEFR SERROEEE T-61108 4,908 2,039 2 0 16 42
27 (FHEE  |HAm BEMMEFR|SIER D BiR| 061109 9,254 4,507 1 1 67 45
28 |FREE HEIW MM EFR | SRS O B T1-61110 280 41 1 1 6 54
29 |FREE [HOW EaMAHE|RERMORE T-61111 1,529 118 2 0 8 58
30 |FHEE |HFBH F=1E BRI D RRLE| 1 -1379 16,532 8,126 8 3 51 36
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' - SHEHFA | 5540 | /XS TR
| BREEN| woemigpg| S WEERN whmmn | (m) ¢)
31 |FREE HBM L= BB OERIE| [ -1380 21,791 9,800 13 7 53 41
32 |FEEE [HTH =i BERIh D ERIE| [ -1382 1,986 791 1 0 26 35
WIMEE HBW  (h=4 S a2 DERE I 4276 6,864 2,409 5 5 16 46
34 fEE |HEH =1 SERIh O RRIE| [ 4277 11,871 5,139 5 1 30 40
3B {FEEE HBH T=H SERIH D ERER| T -5789 6,334 2,226 8 3 21 38
B IMEE HIOMH T=4# 2 ER Hh D HRIE| 0 -5790 6,506 2002 | 15 1 39 49
7|mEE  [HIBMH T=4# SERIHORRE T-5791 6,474 2,501 12 i 33 44
B |HAEE HBH |T=# SESIHh D B IR| T -5792 2,690 874 1 1 20 49
39 (f{HEE [HiAm T=# (2B OERE T1-5793 31,590 12,317 8 1 57 44
A0 [FREE  |HiOm L= ElERIHhOEEE| 1-5795 2,167 1,241 1 1 41 40
M |fEEE  |HBW = SER O HEREE| T -5796 11,634 3,159 5 1 30 44
42 |AEE |HiBH T=18 = (Efdih D EAEE| I -5800 427173 23,623 6 5 70 37
43 [FEEE |Rifd +=H | RlERHh@EIE| T-6608 1,281 434 1 1 14 44
44 |FEEE  |HBH F=4H AlEfth D EIE[M-3115 7,958 3,582 1 1 35 37
45 |[fERE  |@EBTh h = 2{ER MO M-3196 810 165 1 0 12 54
46 |[FHEE  |HAH th =4 EfEaith D EAIE[IM-3197 5,508 1,625 2 0 23 42
47 |FEEE  |AAWH i = 4 =it R EE[M-3199 376 38 1 0 5 65
48 [FHAEE  |HBh b= [(2lEfithd g K| M-3201 2076 550 1 0 16 54
49 |FEARE (Ml - |T=# 2B Hh o) FH | I -3209 2,401 1,154 1 0 24 42
50 [FRA&E MW (WilE A{EROFRIE M-3211 22,709 7,200 28 1 25 48
51 (&% |Hlhi [T=# SMERIHh D HAIE| M-3213 7.214 3,037 1 0 35 39
52 |fAE ([HBm  [Bulé AlEfitho EH iR 3214 7,394 2,350 2 0 14 41
53 |F £ Hih | AEEEI | SERhOERE T -2100 28,660 14,003 16 -6 70 37
54 |iFBAZE |HIWh AEME)I |SERMMOERE 1 -2101 18,248 8,067 8 5 73 43
55 (FEEZE  |Mlm AElTE) |SEgithd) BRLE| 1 ~2102 14,662 10,075 3 1 101 40
56 |PHAEE |HAN AEHE) S Efl#ho gAlE[ 1 -2103 22,780 13,286 6 4 118 38
57 |[FEARE |[HE@AH - |AEBTEI (SHERIHQHEE 1-2104 - 52,849 36,086 20 5 131 38
58 IFaEE |HlTh AT ETE | S {ARIhD gRiE| T -4752 5,946 2,600 5 3 40 45
59 [Faf®E  |HBW | AEEE) |[S{ERHO R 1 -4753 19,388 13,797 6 4 103 38
60 |FiEE |HBEM AEHIER | 2B O -8414 1,888 g47 3 2 23 39
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8% FEEER | ax SHEH | RAES | FHAE

HRREN | gl migp | 2R s igm|  (m) “)
61 [FAE |[EAh |AT=EE |RERORE 2,028 584 2 1 35 31
62 [FAZE [Hillm  |[REHEI [SEMOERIE 7,220 2,310 5 1 23 36
63 [FEE |Hlm | A=ETE [SERMhOEER 1,262 " 616 2 0] 21 49
64 |[FREE [HPIH RERER |SEMNMORE 1,107 408 i 1 17 42
65 [FAEE [HPAH AERTERI (SEMHhO R 10,631 7,568 2 1 107 38
66 [FAEE |[HIDH AEEE) [S1EROEE 2,614 2,152 1 1 a1 37
67 [FAEE |[HIOH AEEER) 2B DR 16,881 11,079 4 1 92 43
68 [FZE |@AMm | ABHZH [SERMORHE 17,431 8,993 7 5 87 43
69 |HHAE [Hid | AERZ#H [SESHORE 14,425 |. 5,430 4 4 46 40
INEE Hh  |AEEI=# |S{ERhO R 5,488 2,007 | 4 3 23 42
71 | BT (A== (BERhORRIE 1,502 528 1 1 17 40
72 HI REiT=# |[SUERIHh D H 1,321 439 1 1 31 44
73 Hilth  |AER=# [2(ERHMDOEEE 3,783 3,034 1 1 92 41
74 HaA AER=# (SO EIE 15,054 9,675 5 3 71 35
75 BB AEHE A E | S ER O FRIR 38,212 22,095 11 4 119 36
76 Hil AER)G |2 EfHhORE 72,654 47,061 44 26 162 | 40
77 m2h [ FEEIE [BERMOEER 21,622 11,789 14 5 77 35




